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%1 H2E %3 4 ~ g |7

[IETA ® 4 X 6)512?5%(5) 8));2?5.50 11)%2??()%) 12)11%7%.50 f';,ff]f 71f 2l ;;
Abu=y | K AVE | Abeey | RAVE | Abe=2 | W AVE | ARR-2 | KAV

1| Ak #T (bt X) 77 19 82 19 87 13 | 82 20 58 77 [82.0 | 87
2 | K& ETF (FBHIX) 77 19 82 19 84 20 | 86 13 58 77 [82.3 | 86
3| ARG R (M X) 79 15 81 20 86 15 | 83 | 19 54 79 |82.3 | 86
4 | TREIFRET|  EEX) 73 20 84 14 88 9 85 | 16 50 73 |82.5 | 88
5 |FRHERAT| (X 77 19 85 12 87 13 | 85 16 48 77 [83.5 | 87
6 | &% W7 (LX) 80 13 83 17 HHIK S 85 16 46 80 |82.7 | 85
T | R S (HER) 82 10 84 14 84 20 | 89 7 44 82 |84.8 | 89
8 | KATHRT (fk X) 83 17 84 20 37 83 [83.5 | 84
9 | I RBF GRS, 78 16 85 12 ENIe 91 5 33 78 |84.7 | 91
10 | EfE BE | (REFAK) 87 13 | 83 19 32 83 |85.0 | 87
11| B K7 | BRErsx) | 81 12 86 10 89 8 99 0 30 81 |88.8 | 99
12 | S 6T (BB RLIX) 83 5 83 17 89 8 102 0 30 83 [89.3 | 102
13 | YEHEEE (F X) 89 0 87 7 94 0 84 17 24 84 [88.5 | 94
14 | A =& e ) 84 4 91 0 90 5 86 13 22 84 |87.8 | 91
15 | g UL (FIX) 81 12 93 0 M 88 10 22 81 [87.3 | 93
16 | W T (e x) 98 0 85 17 92 4 21 85 [91.7 | 98
17 | EFAIERE G X) 82 10 86 10 ERIe 20 82 |84.0 | 86
18 | HEAEET (&RX) 79 15 92 4 19 79 [85.5 | 92
19 | #BH  #E (HAX) 82 10 90 0 89 8 93 1 19 82 |88.5 | 93
20 | BEEHET LX) 85 17 93 1 18 85 [89.0 | 93
21 | Win HT (FHEX) 85 1 88 4 ERIe 87 11 16 85 |86.7 | 88
22 | H)II T (A X) 84 4 86 10 91 2 93 1 16 84 [88.5 | 93
23 | AR HEF (@RX) 85 1 89 2 87 13 | 101 0 16 85 [90.5 | 101
24 | IS Cie X) 86 15 15 86 |86.0 | 86
25 | E#E W7 (FLEX) 95 0 93 0 88 10 10 88 [92.0 | 95
26 | U T (LX) 97 0 95 0 38 10 10 88 [93.3 | 97
27 | Mg T (5 . 1X) 82 10 92 0 98 0 10 82 190.7 | 98
28 | Bot Efl (M %) 82 10 95 0 10 82 |88.5 | 95
29 | BEREART | BHRIK) 91 2 89 7 9 89 190.0 | 91
30 | ARIE TEE | (RSB 87 7 107 0 99 0 7 87 |97.7 | 107
31 | EW &T | @HRIK) 86 0 87 7 L= 7 86 |86.5 | 87
32 | HE IET (s 1) 94 0 89 2 LI 92 4 6 89 |91.7 | 94
33 | A= (FHEK) 84 4 89 2 95 0 95 0 6 84 190.8 | 95
34 | H BT (LX) 88 0 93 0 90 5 96 0 5 88 |91.8 | 96
3B | WAAELX (AR X) 88 0 90 5 5 88 189.0 | 90
36 | /BT %7 1X) 87 0 88 4 4 87 |87.5 | 88
37 | Ak T G X 85 L 92 0 99 0 1 85 192.0 | 99
38 | KB T | EHIK) 100 0 102 0 99 0 95 0 0 95 199.0 | 102
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39 | #ARFEMAL (e X) 92 0 91 0 95 0 96 0 0 91 [93.5 | 96
40 | FKoCEME (LX) 97 0 100 0 101 0 | 100| o 0 97 199.5 | 101
41 | BARHET | RESEX) 102 0 106 0 100 | o 0 100 [102.7 | 106
42 | Pk e (FHEX) 93 0 98 0 96 0 104 o0 0 93 |97.8 | 104
43 | Ragn ESE (iR IX) 101 0 99 0 99 0 106 0 0 99 [101.3 | 106
44 | &3 BT (8 R.1X) 111 0 FHIR S 114 0 110 | 0 0 110 |111.7 | 114
45 | /AR HIZE (1 X) 106 0 111 0 114 0 113 | 0 0 106 [111.0 | 114
46 | AERES | ERIX) 109 0 117 0 0 109 [113.0 | 117
47 | # R = X) 102 0 118 | 0 0 102 [110.0 | 118
48 | HEE T (HHEX) 92 0 94 0 0 92 193.0 | 94
49 | HFH FEH ) 86 0 HHT R 0 86 [86.0 | 86
50 | LRk & (BT 1X) 89 0 HHIK S 0 89 [89.0 | 89
51 | SHEHET Gk 1) ENIe 0 1000 | - 0
52 | tRiEH HT (LX) HHIR S 0 1000 | - 0
53 | HHl HF) (HER) 90 0 0 90 |90.0 | 90
54 | HHERT (FFHEX) 95 0 97 0 0 95 [96.0 | 97
55 | HE =T (LX) ENe 0 1000 | - 0
56 | BREDH (i X) 91 0 0 91 |91.0 | 91
57 | BEfZ>IL (BT %) 91 0 0 91 [91.0 | 91
58 | =Y IRlT FHLEX) HHI R 0 1000 | - 0
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